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Preface

We are delighted to present to you the "Reasoning Book for All AE/JE Exams," authored by Team AEC. This
book is meticulously crafted to be your comprehensive guide to mastering reasoning skills, specifically
tailored to cater to the diverse needs of candidates preparing for Assistant Engineer (AE) and Junior
Engineer (JE) examinations.

In the competitive landscape of AE/JE exams, the significance of reasoning skills cannot be overstated. This
book is a collective effort of Team AEC to provide you with a resource that not only covers the entire
spectrum of reasoning topics but also equips you with the strategies and techniques needed to excel in
these crucial examinations.

Success in AE/JE exams requires not only subject knowledge but also a mastery of reasoning skills. The
"Reasoning Book for All AE/JE Exams" is designed to be your go-to resource for achieving both. With a
collaborative effort from Team AEC, we are confident that this book will serve as a valuable companion on
your journey to success.

We extend our best wishes to all aspirants using this book. May your diligent efforts lead to success in your
AE/JE examinations, and may this book play a pivotal role in your accomplishment.

Warm regards,

Team AEC

Harshit Sharma Vijay Patidar
Founder & Director Co-Founder & Director
Advance Engineering Classes Advance Engineering Classes
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CHAPTER: 1

ANALOGY

1. Figure A is related to B in a certain pattern. Following the
same pattern, figure C is related to D. Study the pattern and
select the figure which should be placed in place of D.

t © 2 A
. - L] - * - ?
5 u - L ] =. -.e D v - -
(A) (B) (C) (D)
/

MTpid A U fAfeda ded o B & Feifda &1 34t Yet o1 srgaror aed
Y, 3Mpfd C, D { Hafeid 81 Ye &1 3nega HIfSg 31K 39 31pfd a1
I PISTG fS D & T TR @1 STHT 1T

t o 2 A
e Bl = [s5] * | ?
5 « = D v
(A) (B) ©) (D)
A) |4 a B) |4 a
* *
*
[ >
Cl[« b D)« D
* *
*
> >

2. Figure A is related to B following a certain pattern.
Following the same pattern, figure C is related to D. Study the
pattern and select the figure which should be placed in place
of D.
o c| |1 D f, M
O - L) - 2 - ,?
o . a .o = H
D rl e o} A =g
(A) (B) (C) (D}

/

3P A o fAfeTa Set T 3gERvT 3d g 3ngsfa B I Wi 21
AT YT T 31gHVT B §Y, 3MTpfa C, D I Fafad 21 Y a1 s
PISY 3R 3T 3THIT BT T BT S D & T W IFT STAT
eyl

o _ ¢l |1 D E
jm} - L) -e 2 - ,?
Q |- O (e = . !
D I C o] A =f
(A) (B) (C) (D)
A A ) [
_B
M + M 2::1
C) 2 M D] ".FD A
\;*-E pr)
A = M ?

3. Figure A is related to B in a certain pattern. Following the
same pattern, figure C is related to D. Study the pattern and
select the figure which should be placed in place of D.

P 2 K
> i B | O | ?

s| |=a D

(A (B) () (D)

/

5 A Teb fAfeRid Ye § B & Heiferd &1 34t Ue T 379R0T v g,
3THTd C, D A Wafd 1 Uet BT 30T B 3R 3T 31T BT I B
fSRY D & XM TR 3@ STHT aTfeg|

P 2 K
> . B il O | ?
S 49 D
(A (B) () (D)
A) [ B) [a
® ®
K A
C) [k D) a
e K
a O

4. Select the word pair in which the words are related in the
same way as the words are related in the following pair:
Hygrometer : Humidity :: ?

/

39 2IE-gTH BT IIF HIfSTY fSH SHT 2eq 34T bR Haftd & S
Frfeifed ere-gm H &

BISUTHISR ; 37T =2 ?

A) Ammeter : Length / 3dleT:  B) Anemometer : Temperature
GLSIES / TAATHRR ; qrge

C) Seismograph : Earthquake D) Odometer : Odour /

/ T ; od 3METHeR : Ty

5. 'Nymph' is related to ‘Cockroach’ in the same way as
Tadpole' is related to '_____". / 'fAm &1 Gay "faeraer I 34t
PR 8 SN ‘eulel ol Hay "HEI

A) Insect / HIg B) Cow / T

C) Bird / Ueft D) Frog / He®

6. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must NOT be related to each other based on the number of
letters/number of consonants/vowels in the word)

Golf : Stick :: Cricket : ?

/

39 fIeped o1 T HIfSIY S dIeR 2leg T 34 UpR Tefod &, o
PR GERT 2Ieg, U Qreg I Heiferd 21 (ereal 1 372fquf 3T 2reg /AT
ST ITET 3R 26 B 371&RY &l HHT/isT1/TR] bl T & 3TUR W
TS g Y Hafed T8l g1 91fv)

Mok : [ = febpe - ?

A) Bat / ST B) Stadium / &faq
C) Ball / g D) Wicket / fddbe

7. Select the word pair in which the words are related in the
same way as the words are related in the following pair:
Treatment : Hospital :: ?

/

392G T BT IIF BIfoiy fS 2rea 33T ThR If=d 8, iS5
TR AHfafea e # ereg Irfa &

3UAR : 31 ™dTef =2 ?



A) Cinema hall : - B) Temple : Prayer / Hfe :
Entertainment / f&-HT 87c : AT
HARSH

C) Education : School / felaiT: D) Garage : Repairing / TRTeT :
feemera AT

8. 'Bangladesh’ is relqted to 'Taka' in the same way as 'Kuwait’

is related to ' / "IiTATeer, Tt A 38 YbR Hefad g o

'@H’ : @rwﬁa%l
A) Euro /TR B) Sol / |iet
) Dollar / TR D) Dinar / €FR

9. Select the option that is related to the fifth word in the
same way as the second word is related to the first word and
the fourth word is related to the third word.
Doctor : Diagnosis :: Painter : Painting :: Judge : ?
/
39 fIepca T Io BISY fSehT Uiad 216 & T1 T8l T 8, ST g
2eZ BT Ul 2USE & T 3 Tl 216 &7 ¥R 206 &b HIY Bl
Tafrce® : fiem :: foFeR : RFeRT : e : ?

[SSC Selection Post 2023]
B) Lawyer / Tdbiet
D) Punishment / ISIT

A) Judgement / fAofa
C) Court / IraTeqa

10. Select the word-pair that best represents a similar

relationship to the one expressed in the given pair of words.

(The words must be considered as meaningful English words

and must not be related to each other based on the number

of letters/number of consonants/vowels in the word)

Carpenter : Hammer

/

39 A-gTH W1 T DIfSTq ST QU 7Y 2real &b g § ezrerd feby Ty

T J&Y BT JE 31287 Ufdffeiea &dr 2l

(2real T HTefeh fEet 2req AT ST ATeY 3R 2real Pl 31&RT I AT/

Eﬁm@ﬁﬁmﬂs YR W TP G I Heifeid T&f Hem
)

ges : gelleT

A) Fisherman : Net /A83IRT:  B) Butcher : Meat / &HTS : #i
NGl

C) Mechanic : Car / #5fA : D) Nurse : Patient /= : It
PR

11. Select the option that is related to the third word in the
same way as the second word is related to the first word.
Canberra : Australia :: Doha : ?

/

39 e BT T9T & I TR &8 J 39T TR Haifoid § o gaeT
22, Tl 2[e H Heifed g1

PR : 3T :  QET: ?

A) Qatar / R B) Iran / 1
C) Yemen / I97 D) Kuwait / $dd

12. Select the word-pair that best represents a similar
relationship to the one expressed in the pair of words given
below. (The words must be considered as meaningful English
words and must not be related to each other based on the
number of letters/number of consonants/vowels in the word.)
Lion : Roar

/

39 2eZ-gTH BT I HISIY, ST A1 f&T M7 2reaf & g # e fby
Y U e BT T 378 adtes A F3f0d oxar 21 (2real BT 3t
T 37efqu 2req AT STHT A1V 31K 2reg W 37aRT Pl HwaT/sTHi/wR]
I HWT P TR W T gHY § Helfeid T8l a1 A1y )

R : BT

AEC Plus | Analogy

A) Hen : Crow/'ﬂ"ﬁ: P
C) Horse : Neigh /
HeT : feAfeamn

B) Owl : Bleat / 3e% : fafeamr
D) Goat : Hoot / S/t : §€

13. Select the option that is related to the third word in the
same way as the second word is related to the first word.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word.)
Octagon : Eight :: Heptagon : ?

/

39 fased BT 99 PIfSTT ST TR 2rea A 36 YR Faifod § S gasT
2[eZ Uge e I Heferd 21

(2rea T TRl ST 2 HHAT STHT TTfy 31K ofed # 378RT hl I/
ot Y HET/TRY B T&AT &b AR W Teb gAR I G foid T&f
HEiEUE))

TS : 31TS & HCAHST « ?

A) Ten /e
C) Nine /7t

14. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Pen : Author :: Axe : ?

/
(1) P 9T 3R 3T T 2reg RER oot ddb/fam/dey gRT Fefed sl

B) Six / Bg
D) Seven / 9O1d

1AM dh/f[aH/dey &% 3R W &U 17 el & 9 () & &g 3R
T 2rec/2Mee g BT I HISTI

BT : TP :: Poals! : ?

A) Teacher / folers B) Woodcutter / cThgaRT

C) Cobbler / H=it D) Chef / sradf

15. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Ohm : Electric Resistance :: ?

/

() & TS 3R &Y 77 2reg 3o § Bt e/ fAm/ = gRT 98 g9 &
T ddb/f[Aam/Tra= & 3R R 30 77 faeeal & F () P & 3R
AW 2ree/2Me g BT I HIfSITI

39 - faga wfaRng = ?

A) Power : Watt / 2Ifdi: @t B) Volume : Litre / 3T0d : el

C) Seconds : Time / ¥ 7T D) Pascal : Current / IT&hd :
HRT

16. Select the option that is related to the fifth word in the
same way as the second word is related to the first word and
the fourth word is related to the third word. (The words must
be considered as meaningful English words and must NOT be
related to each other based on the number of letters/number
of consonants/vowels in the word)

Elephant : Trunk :: Fish : Gill :: Kangaroo : ?

/

3 fdehed o7 ga BTy it e 2rea F 33} YR Teiferd &, 5
TR GIRT 2[eE, Tga QIeg I 3R Tt 2reg, R 2reg & Hafud 21
(2reaY T 312fquf 37T e HIAT STAT =i 3R 2rea H 378RY & w1/
wﬂmﬁﬁm%wmwﬁﬁmﬁﬁﬁma@)
g1l : g o TS : TABST 12 BTG

B) Pouch / &t
D) Muzzle / g7

A) Antlers / i
C) Blowhole / arggr



17. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Car : Steering :: Fan : ?

/

(::) o ST 3R U Y 2reg 3 # febdd} e/ Fam/<et gRT defod 2l
T ads/fAam/deH & 3R IR 3T 7Y faesenl § I () & o 3%
T 2rea/2ee M BT I BIfST|

PR : T 2 g ?

A) Three / dF
C) Tyre / TR

B) Electricity / fasTeft
D) Blade / &g

18. Select the word pair in which the words are related in the
same way as the words are related in the following pair.
Bhutan : Thimphu

/

39 2reg TH b1 TG HIfSTY fSTHH 2reg 33T bR ARIFE & S gbR

FAefafaa gm o e grafaa &

e : ferrgp

A) Rome : Italy / 37 : et B) China : Hong Kong / =4 :
BRI

C) Pakistan : Islamabad / D) Bangladesh : Taka /

qTfeRed : SXCATHTETS o : ThT

19. Select the word pair in which the words are related in the
same way as the words are related in the following pair:
Farmer : Plough

/

39 2reg TH T YA HIfoTY i 2reg 33! YR Heifeid & S
Fefeifea gm o eree Heifod &

[EICEEC

A) Soldier: Pen / fGUTél : e B) Surgeon: Scalpel / TsiT :
BT

C) Author: Spade / o : D) Tailor: Harrow / &sff : g&at
PpaleT

20. Select the option that is related to the third term on the
same basis as the second term is related to the first term.
Mirror : Reflection of light :: Prism : ?

/

39 faepeq o1 g9 BT oY AR U F 30 3R W d&fod 2 f9a
3TUR TR gAY U, Ueel U H Heffad 21

YT : eTr BT WRTadA :: fieT @ ?

A) Scattering of light / Trer
BT FepIviT

C) Dispersion of light / 91l
% faggor

B) Reflection of light / WibTel &1
ENCGES

D) Inversion of light / 912l &1
Y chHUT

21. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Yuan : China :: Yen : ?

/

() o 9T 3R T T 2reg RIWR ot s/ fAam/~iee gIRT Hafed gl
A ad/ /e & 3R W &y 7Y fJepedl § 9 () & 3T IR g

2[&/2( T BT T BIfSIY|

A AT 3T 0 ?

A) United Kingdom / gdTses B) Srilanka / 2ieaT
[EZIEL

C) Pakistan / UTfdsedm D) Japan / STa=

AEC Plus | Analogy

22. Select the word-pair that best represents a similar
relationship to the one expressed in the pair of words given
below. (The words must be considered as meaningful English
words and must not be related to each other based on the
number of letters/number of consonants/vowels in the word.)
Dog : Kennel

/

3 2reg-gH BT T B A1 A1 &Y MY 2l &1 g H egrerd fasg T
HAT Her bl Hafed B9 I <RATAT 21 (real T Hrefeh 31 2ree AAT
STAT =1feT 3R 2rea H 371gRY & FwaT/&si1/FaRT Pl W1 & 3R W
T e & Wi & BT =)

Pl QAT

B) Hare : Den / T2l Hie
D) Spider : Shed / Hepe!
emfesT

A) Bee : Hive /ﬂ'ﬂ'ﬂ?ﬁ: Bdr
C) Lion : Burrow / 9R: faaT

23. Select the option that is related to the fifth word in the
same way as the second word is related to the first word and
the fourth word is related to the third word.

Virat Kohli : Cricket :: Saina Nehwal : Badminton ::
Viswanathan Anand : ?

/

39 fIhed BT 9 & ST Uied 2feg | 39T UhR Hefed 2 o TeR
TIRT 2 Ugel 26q H 3R TNT e I 2reg & Heifeid 21

feRTE P! : fobbe :: ATSAT A8ard : d8ffied :: foeaarem smHg : ?

A) Basketball / STBedTel B) Chess / erd3sT
C) Tennis / 9 D) Football /gﬁﬁﬁﬁ

24. Select the option that is related to the third word in the
same way as the second word is related to the first word.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word.)

Lens : Camera :: Cartridge : ?

/

39 IBed BT o HISTY, ST TR ek I 38 YR Hefad & f5
YPBR G 2(eS, Ugel A I Hafeid 21

(2reaY T 31fquf 3T 2reg HIAT STAT =1fY 3R 2rea H 378RY & w1/
/TR B IEAT P ATUR W I T IR A Hafed 781 g a1feg)
W BT &2 BIfeT : ?

A) Printer / fiiex B) Ink / &l
C) Paper / &St D) Computer / PR

25. Select the word-pair which represents exactly the relation
which is expressed in the given word-pair.

(Words should be treated as meaningful words and should not
be related to each other on the basis of number of
syllables/number of consonants/number of vowels in the word)
Pen : Cob

/

39 2IZ-gTH BT IF PIfSIY, ST Sl IHT Hefey BT ABUoT BT &, i
Hew 1 77 59 reg-grH H sTfiee B

(2reaY T 31efquf 2real o B9 H HHT STHT ATfeY 37K 2feq P 37&RT HI
TAT / STl bl T/ TR Bl T & AR TR IRER Ffed T8
BT a1EY)

a8

A) adult : infant / 9%k : f?r{g B) sorceress : sorcerer /

C) banyan : tree / & : U D) pig: piglet / 3R : 3R BT
T

26. 'Radians’ is related to ‘Angle’ in the same way as ‘Ampere’

is related to * '/ ST &1 HEY BT F 3G UBR B S




TR’ T ey 'HE
A) Electric Current /ﬁgr—rum B) Power / oIfay
C) Voltage / et D) Work / &1

27. Select the word - pair that best represents a similar
relationship to the one expressed in the given pair of words.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word)
Hibiscus: Flower

/

3 2 - H BT T HISY N1 QY 7 2real & grm 1 e foby 19
TAT HH BT Fa 3BT gfdATae BT 2l

(2T T 372fquf 37U 2re HAT STHT =TfEy 3N 2rea H 378RY BT Iw&A1/
STAI/FRT BT WAT F TR W T g J Hafed 981 a1 91feg)
TEE T

A) Pumpkin : Fruit / &g : el B) Beans : Protein / §1_T : M
C) Leaf : Green / 9dT : 1 D) Tree : Trunk / g&f : @41

28. Select the option that is related to the third word in the
same way as the second word is related to the first word.
Night Blindness : Vitamin A :: Beri Beri : ?

/

39 fdeped &1 T HIfoy, ST dIR 2ree ¥ 34t WepR Teifod & o
PR GHRT 2Ieg, Ugel 2ee H Hafeid 21

Al : faerfiT A = IR S ?

A) Vitamin D / fderfg= D B) Vitamin C / faerfam C
C) Vitamin B / faerfi= B D) Vitamin A / faerfaT A

29. Words given on the left side of (::) are related with each
other by some Logic/Rule/Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Scooter : Vehicle :: Pencil : ?

/

() & aTE 3R QY 7Y ereg; ot e/ fam/dey gIRT Uos e o defad
21 3T deb/fAam/Hey P R W QY 1Y faebed! § 9 (1) &b 218 3R
AT 2Aec/2AeE GTH BT IIT HIfSIY|

e« aTed = UfeT 1 ?

A) Pen / ®cTH B) Stationery / T2FRT
C) Write / fetr D) Lead / @18

30. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must not be related to each other based on the number of
letters/number of consonants/vowels in the word.)

Bull : Cow :: Gander:?

/

39 fadped T T8 B ST AR 216 I 3T bR Hafid B S goRT 26
g Qe I Hafdd 71 (Qreal o wrefes f&dt ereg AT ST anfey 3tk
[T BT 3T&RT BT HEAT/STHI/FART BT HAT P IR W T G A
Taferd T8t AT =9Ifeyl)

A M B ?
A) Doe / gRoft B) Goose / &fFt
C) Mare / 811 D) Hen / gfff

31. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Stable : Horse :: Hangar : ?

/

AEC Plus | Analogy

() P 1Y 3R oY 7Y 2ree TR foseft qeh/fam/dde gR1 8 81 THH
T/ A/~ & 3R W QY 7Y fadbeal § I () & AT 3R I e/
2rez g By AT

3RS : HIST = 8 : ?

A) Animals / STHR B) Aeroplane / faam
C) Fish / W&t D) Grains / 3{dTsT

32. Select the option that is related to the fifth word in the
same way as the second word is related to the first word and
the fourth word is related to the third word.

Dentist : Teeth :: Orthopedician : Bones :: Cardiologist : ?

/

3 faeped T Ta BT S uied 2reg J 3} yopR Fefid & SR gar
e UEC QIS W HETHd B 37R I e iR 2fex I Hafed &
3feze : i« TS IrTT | g2 i wIfEaEoRe : ?

A) Ears / ®&H B) Heart / gad
C) Brain / Afass D) Eyes / 3T

33. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must NOT be related to each other based on the number of
letters/number of consonants/vowels in the word)

Castle : Building :: Sedan : ?

/

39 fdmed &1 Ta9 &Y S R 2fex 1 3T UahR Hefod 2 o
TBR IR 2Ie5, Tgel 26k I Heiftid 21 (real BT Trefep 3Tt oreg AT
ST ATfRY 3R 2reg; F 378RY Y Hw/istAl B HwT/wRY B =T &
YR TR Yo gaR F Feifard T 811 T1fey)

~
[Pl : SARA :: IS = ?

A) Car / BR B) Bike / WTgfde
C) Motor / AR D) Truck / ¢&

34. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Car : Vehicle = ?

/

() & a1 3R oY 77 2rex fseft adh/ v /Hey gRT v gae & Heifea
T1 3 adh/Fam/ey & TR W &g Y fdeedl § F () & arg 3R

T 2Me&/ 2 JTH BT T HISY|

PR : drgd = ?

A) Table : Furniture / 2dd : B) Profession : Teacher / 92T :

TR fereres

C) Figure : Triangle / 3T#R : D) Stationery : Pen / T2 :
PIH

35. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Ring : Boxing :: Rink : ?

/

() 3 aTE 37R AT MY 2req foat adh/fam/<ie gRT U geR & Heifed
21 3 ad/fAam/dey & 3R W T MY fadmeat ¥ F () & a7 3R

AT 2/ 2 JTH BT T HIST|

o gf T = Rep 2 ?

A) Athletics / Tefaifea B) Skating / TBfeT
C) Badminton / SsffeT D) Cricket / fdspe

36. Select the option that is related to the third word in the
same way as the second word is related to the first word.



(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word.)

School : Students :: Hospital : ? / 33 faeheq &1 ga7 & 51 dRR
26z I 3} YR aferd & SR GIRT 20 g 2rea F Heifad 21
(2real 1 Tefes ST 2leg HIHT ST ATRY 37K 2reg W 318RY &l T/
FSTI/RRT BT HWAT & ATUR TR b gAY & e fod Tal g7 a1feql)
TPl : BT 11 3Tl : ?

A) Doctors / ldex B) Nurses / T

C) Patients / wlIsT D) Diseases / SHRY

37. Select the option that is related to the third word on the
same basis as the second word is related to the first word.
Tokyo : Japan :: Paris : ?

/

39 faped o1 T HIfoTy ST TR 26 I 34T 3R W Iefed & o
I Qe Ut 2reg ¥ Halfeid 21

TR ; SO OR : ?

A) Ireland / 3RS B) France / %wid
C) ltaly / seait D) Switzerland / f@esRes

38. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Horse : Mare :: ?

/

(=) & 9Tl 3R AT TTY 2reg; faseft e/ fAam/dde g1 Ve gar & Hdfed
21 3T adb/fam/ded & 3R W U Y fawmed) § 3 () & Rt 3R
W 2[e2/2(e M BT T HIfS]|

TeT: "et = ?

A) Nephew : Uncle / YdlsiT -
T

C) Brother : Sister / 9T : 987 D) Cow : Bull / T : &

39. Select the option that is related to the fifth word in the
same way as the second word is related to the first word and
the fourth word is related to the third word.

Retina : Eye :: Pons : Brain :: Cochlea : ?

/

39 faped T Ig7 BT S gTed 2feg A Y JopR Feifad & S gawr
2eE, UEe 2 W Hafdd & 3i¥ dter ereg, TR 2reg I Heferd 21

AU : AT N : AEIB 2 PBUTfad : ?

B) Son : Father / Q= : foar

B) Ear / &1
D) Nose / ATp

A) Heart / &g
C) Throat / TTeT

40. Words given on the left side of (::) are related with each
other by some Logic/Rule/Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Thailand : Baht :: China : ?

/

() & aTE 31N AU TV 2rex; fobett adhs/fam/ddy gINT o gy & Tefod
21 34T adb/fam/dey &b AR W U Y faesed] § 4 () P & 3R
AW 2Aee/2AeE GTH BT IIT HIfSI]|

ASeis : g8d T ?

A) Riyal / Rare B) Dinar / R
C) Yuan / g3 D) Dollar / 8TeR

41. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must not be related to each other based on the number of
letters/number of consonants/vowels in the word)

AEC Plus | Analogy

Lake : Land :: Island : ?

/

39 faeped o1 I o3 ST IR 2le I 3Y UehR Tefed & o9 UepR
GIRT 2[e5 Ul 2[eg I Hefoid 81 (2l T HIefeh 3T 2/eq HIAT ST
TR 3R ereg W 31&RY I TEAT/ZSTl/TRY BT AT & 3TUR R T

I T H&fud T8 g1 91fen)

BRI

A) Plains / #eH B) Water / 9Tt

C) Hills / 9da D) Desert / Ho<eeT

42. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Cow : Four :: ?

/

(::) & 9T 3R fEw 7 ereg 3o § oY dds/ /ey gRT Heifod g1
HAM T/ fAam/ey P 3R W QY MY faweal § I () & &t 3R
T 2/ 2 JH BT AT

T IR ?

A) Crow : Two / BI3T: & B) Four:Dog/EI'I'\’:gv_rlT_
C) Tiger : Eight / 9Te : 3113 D) Parrot : Five / dTdT : Ui

43. Select the option that is related to the third word in the
same way as the second word is related to the first word.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word.)

Horse : Stable :: Hen : ?

/

39 fdehcd BT 97 HISY ST TR 2eg F 38T YobR Hafdd & S gRT
2eZ Yget ore § Hefud 21

(2reg Y TTefes 3Tt 2reg HIAT ST ATRY 3R 2reg 1eRT dF T/
ST Y TET/RY B JEAT & MR W Th IR A Heferd T&f
HeEuEY)!

HYel : 3dad i : ?

A) Farm / BT (3d) B) Pen / dTsT
C) Coop / &&dr D) Shed / enfaat

44. Select the word pair in which the words are related in the
same way as the words are related in the following pair:
Curd : Milk =2 ?

/

39 2Ieg GTH T I DI fSHH 2leg 3T YbR Heifeid § S
Fafafad gm o eree Heifoa &

gy ?

A) Pulp : Paper /@'I'cﬁ : BITST B) Furniture : Wood / AR :

C) Ore : Metal / 3183 : HTg D) Hairs : Black / 9T : BTeY

45. Select the word-pair that best represents a similar
relationship to the one expressed in the pair of words given
below. (The words must be considered as meaningful English
words and must not be related to each other based on the
number of letters / number of consonants / vowels in the
word.)

Cattle : Herd

/

39 2Ieg-gT BT IIF HIfSY ST A 147 1Y 2reai & g # e fapg Ty
TAT e BT TG 3728 aich I GAfar 21 (redl BT Hefeh 3T 2
HTAT STHT ey 31K ea ¥ 37eRT &I J&AT / Fistl df J&AT / TWRI Y
AT P HTHR W U IR F Haiferd 781 g1 arfdel)

Ha2ft - gfs



B) Sailors : Crew / ATfd® : TTAd
<ol

C) Pupils : Team / B : &7 D) Player : Class / f&eTet : P&t

46. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must NOT be related to each other based on the number of
letters/number of consonants/vowels in the word)

Car : Bonnet :: Boat : ?

/

39 fdeped &1 T HIfoTy ST dIR 2ree A 34T WepR Teifod & o
PR GIRT A Ugel e I Heftid 81 (2real &1 Hrefep 31T 2real &
Y H HFT ST 1Y 3R 2eg § 378RY b)Y I&1/To /TR ol TeeaT

A) Soldiers : Colony / 3 :
CaCIE

F YR W Uh R A Fafed 781 eH1 a1feg)

BR : gHe: I : ?

A) Stern / & B) Mast / A<
C)Bow / & D) Port /A&

47. Select the option that is related to the third word in the
same way as the second word is related to the first word.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word.)

Calf : Cattle :: Foal : ?

/

3 fahed o1 T HIfSIY, SN TR 2leg F 3t UehR ddfoa 2 i
PR IR 2T, Ugel 2ex H Hafdd &1

(2reat epT 372fquf f&l ereg AT STHT eV 31K S5 2eq W 318RI Bl
ST /SiSTAl/ER] &Y T P ATUR W b gk 3 Jeifad T&f fasar
ST =)

g8l : HAof - TS &l g7 : ?

A) Elephant / greft B) Horse / =T8T
C) Deer / f&xa D) Kangaroo / &1

48. Select the option that is related to the third word in the
same way as the second word is related to the first word.
(The words must be considered as meaningful English words
and must not be related to each other based on the number
of letters/number of consonants/vowels in the word)

Milk : Litre :: Sugar : ? / 33 fased &7 9 BT ST TR 2reg I
3 UopR HEfad § S GIRT 216k UEH 2Iek  Hefed gl
(2re2) Y HTefes 3UST 2reg HFT STHT @TfEy 3R 2reg 37erR) P Hw1/
AT Y TET/TART DY TEAT B ATHR W T gaR I Faferd &l 8
=1fEg)

Y e A ?
A) Hectare / 8RIR B) Kilometer / feeeriiex
C) Metre / Hiex D) Kilogram / fdsetum

49. Words given on the left side of(::)are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of{(::)from the given
alternatives based on the same Logic/Rule/Relation.
Tadpole : Frog :: Caterpillar :?

/

() & ST 3R 3T T 2reg 3y # fopdt 7 fopd) ach/fAam/dea &
Treferd €1 TAMH ddb/fAam/de % 3R R 3T 70 faeeqi ¥ () &b
TRIT 3R e 2Iee/2reg g Bl AT

2SI : Haeh 1 theXfUoR :?

A) Dog / g1 B) Hen / it
C) Butterfly / faqett D) Sheep / W8

50. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing

AEC Plus | Analogy

word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Chair : Table :: Eraser: ?

/

() & ST 3R U MY 2reg 3 B a2t ads/fAam/ae= gRT arafrd
B A qd/f[H/ama=T & 3R R T M0 faweal 8 I (::) & i

3R W 2Aec/2reg GTH & YT HIfSIq|

P AT 2GS 1 ?

A) Rub / T B) Stationery / &i@ TTHUT
C) Pencil / 9fd@ D) Student / farameff

51. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Mammal : Man :: Reptile : ?

/
(::) & AT 31R faQ 7Y 2ree; faselt aeh/fAam/Hee gRT Tep-gaR & Heifod
21 FHF db/fFaH/Iey b IR W ZY 1T fGeedi § F (i) &6 Rl 3R

AW 2ree/2MeE grH Bl AT

TR : 7S o R - ?

A) Butterfly / fadeit B) Lizard / féusat
C) Rat / J&T D) Whale / @&

52. Select the option that is related to the third word in the
same way as the second word is related to the first word. (The
words must be considered as meaningful English words and
must not be related to each other based on the number of
letters / number of consonants / vowels in the word.)

Bee : Beehive :: Dog:?

/

39 fameT BT 97 B ST dvR 26 3T IhR Hafod & o gy
2Ieg;, Ugel 2eg W Faferd &1 (2real @l Aefes TSt 2reg WA ST =fey
3R 3= 2reg W 31eRT &Y TAT / AT / TRY &Y TEAT P 3R W Tk

TR ¥ Hefea TE g anfea)

HYHERET : BT 2 ol : ?

A) Kennel / QaMHTAT (a7 B) Stable / 3Rdecl
C) Pen / &cH D) Shed / gliusT

53. Select the word-pair that best represents a similar
relationship to the one expressed in the pair of words given
below. (The words must be considered as meaningful English
words and must not be related to each other based on the
number of letters/number of consonants/vowels in the word.)
Sparrows : Tree

/

39 2reg-grH BT IIF B Sl A1 U 0 2real & g # gerd faby T
TAT Ty BT TaA 318 J goAfar 81 (el BT Trefes st ereg M T
ST TRy 3R 2 W 318RY I TAT/ZoT/TaR) Bl T & TR T
& e R Wi A€ &N =R

TRAT : gar

A) Cow : Beach /T : g dC  B) Fish: Water / BB : T
C) Owl : Night / 3c=] : I1d D) Rabbit : Sand / TRl : 3@

54. Words given on the left side of (::) are related with each
other by some Logic/Rule /Relation. Select the missing
word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Editor : Newspaper :: ?

/

() & a1 3R Y MY 2rex 3779y H et adhs/fAaw /ey gRT Heifea g
B A dds/fam/Hey F 3R W 37 7 et # J () & 1€ 3R
T eI/ 2 M BT AT



/

feu v faepea) ¥ I 39 a7 o1 I Hifoiy, st fFefafad Soft & weT
g (?) @ ufaweftd &< Fbdl 21

48, 54, 45, 51, 42, 48, ?

A) 37 B) 33
C) 39 D) 35

65. Which of the following numbers will replace the question
mark (?) in the given series?
8,16,13,?, 47,282

/

fafafad & I o @ b & 1 Joit ¥ veq g (2) & ufdwenfua
PHA?

8,16, 13,2, 47, 282

A) 58/ 68 B) 48
C) 52 D) 55

66. Which of the following numbers will replace the question
mark (?) in the given series?
648, 448, 294, 180, 100, ?

/

fafafad ¥ I o @ b & 18 Joit ¥ veq g (2) & ufdwenfua
PHAM?

648, 448, 294, 180, 100, ?

A) 42 B) 48
C)e4 /64 D) 56

67. Which of the following numbers will replace the question
mark (?) in the given series?
7,7,5,15,11, 55, 49, 343, ?

/

fafafad 3 F H1F-3F G &) 18 ST § weq g (?) By ufdzenfod
PB?

7,7, 5,15, 11, 55, 49, 343, ?

A) 335 B) 293
C) 194 D) 395

68. Which of the following numbers will replace the question
mark (?) in the given series?
600,1500, 3750, 9375, ?

/

fafafad § I o @ dwr & 1 Joi ¥ veq [ (2) & ufdwenfia
PHAM?

600,1500, 3750, 9375, ?

A) 23437.50 B) 21427.50
C) 23126.50 D) 22125.25

69. Select the number from among the given options that can
replace the question mark (?) in the following series.

410, 210, 110, 60, 35, ?

/

eU TV foseal & W 39 AT T 979 BIfSiy, ST AAfefad 9oft & med
g (?) Y ufdwenfia &= wadt 21

410, 210, 110, 60, 35, ?

A) 23 B) 25
C) 20 D) 22.5

70. Which of the following numbers will replace the question
mark (?) in the given series?

3,3,12,108, ?

/

96

AEC Plus | Series

Frefafad & 3 e H HJear @ 18 e § weT g (?) @ ufdwerfua
P

3,3,12,108,?
A) 1528 B) 1512
C) 1728 D) 1684

71. Select the number from among the given options that can
replace the question mark (?) in the following series.
834, 836, 844, 876,1004, ?

/

T 7Y foepea) § I 39 H=0T BT I Hhifory, s Fefafad 9oit & weq
forg (7) @Y ufawenfid &< Fabdl 21

834, 836, 844, 876, 1004, ?

A) 1524 B) 1520

C) 1518 D) 1516

72. Which of the following numbers will replace the question
mark (?) in the given series?
15, 30, 33, 7,137, 822

/

frafafad & @ o I dar G 7 Aoft § veTares g (?) &
wfazenfud B?

15, 30, 33, ?, 137, 822

A) 126 B) 132
C) 128 D) 130

73. Select the number from among the given options that can
replace the question mark (?) in the following series.
12, 37, 110, 331, 992, ?

/

U 7Y foepea) § I 39 G341 BT I Hifory, st fFefafad 9oit & weq
ferg (7) @) ufawenfud &< gl 21

12, 37, 110, 331, 992, ?

A) 2947 B) 2867
C) 2977 D) 2877

74. Select the number from among the given options that can
replace the question mark (?) in the following series.
12, 38, 116, 350, ?

/

foQ ¢ fdepeal ® ¥ a8 "war giAv i fAefafad 9oft § geqares i
(?) @ gfdefud @2 Tk

12, 38, 116, 350, ?

A) 1052 B) 986

C) 916 D) 1012

75. Which number will replace the question mark (?) in the

following series?
5,12, 26, ?, 110, 222

/
FeafafEaon ¥ geares &g (?) B T W) BIF-It Jw0T 3Me?
5,12, 26,2, 110, 222

A) 52 B) 56
C) 54 D) 50

76. Which of the following numbers will replace the question
mark (?) in the given series?
36, 45, 63, 90, 126, 171, ?

/

freafafad & 9 o I da7 & 1 Aol & vedars g (?) B
wfazenfud B?

36, 45, 63, 90, 126, 171, ?



A) 252 B) 255
C) 222 D) 225

77. Select the number from among the given options that can
replace the question mark (?) in the following series.
410, 210, 110, 60, 35, ?

/

feu v fdepea) ® I 39 I=7 o1 I Hifoiy, st fefafad Soft &
woagTad farg (?) o ufawenfud & gadt 21

410, 210, 10, 60, 35, ?

A) 23 B) 25
C) 20 D) 22.5

78. Which of the following numbers will replace the question
mark (?) in the given series?
19, 114, 119, ?, 479, 958

/

fafafad & I o @ dwr & 1 Joh ¥ weT &g (?) & ufdenfua
B?

19, 114, 119, ?, 479, 958

A) 378 B) 452
C) 296 D) 476

79. Which of the following numbers will replace the question
mark (?) in the given series?
4,9,17, 30, 50, 81,125, ?

/

fafafed & I o @ dwar & 1 Jon ¥ ve &g () & ufdwenfua
BI?

4,9, 17, 30, 50, 81, 125, ?

A) 186 B) 166
C) 168 D) 163

80. In the following question, select the missing number from
the given series.
20, 22, 26, 32, 40,7

/
Frefefad weT #, & 18 Aot & o HwT BT T BT
20, 22, 26, 32, 40,?

A) 48 B) 54
C) 52 D) 50

81. Which of the following humbers will replace the question
mark (?) in the given series?
4,21, 41, 66, 98, 141, 197, 270, ?

/

fafafaa ¥ I o @t b § 78 Sar ¥ ued T (2) @ ufazenfia
FM?

4,21, 41, 66, 98, 141, 197, 270, ?

A) 326 B) 362
C) 361 D) 316

82. Select the humber from among the given options that can
replace the question mark (?) in the following series.

12, 25, 51,103, 207, ?

/

f&u Ty faweal § A 379 T 61 997 Hifory, S FAafafad it § meq
g (?) &Y ufdenfia &= wadt 21
12, 25, 51,103, 207, ?

A) 415

C) 416

B) 413
D) 414

AEC Plus | Series

83. Which number will replace the question mark (?) in the

following series?
729,243,?,27,9, 3

/
Feafafad Soft ¥ BH-I T weTaras =g (?) o wfawenfud wai?
729, 243,2,27,9, 3

A) 54 B) 78
C) 81 D) 36
84. Select the number from among the given options that can

replace the question mark (?) in the following series.
48, 75,108, ?, 192

/

foT 7Y faeseul & I 39 H&AT 1 =T B, ST HAefeifEd Jof ¥ we
ferg (7) @ wfawenfud &< Tl 1

48, 75,108, ?, 192

A) 153 B) 147

c) 12 D) 126

85. Select the number from among the given options that can
replace the question mark (?) in the following series.
100, 98, 104, 92,112, ?

/

U 7T foepeat § I 39 Ho4T T I Hifory, St fFefafad aoi & weT
ferg (?) @Y ufavenfud &< Tl |

100, 98, 104, 92, 112, ?

A) 108 B) 82
C)72 D) 64

86. Select the number from among the given options that can
replace the question mark (?) in the following series.

18, 36, 25, 50, 39, ?

/

T 7T foepeat B I 39 H4T BT II BIfSTy, ST fFAfafad Swar o
77 farg (?) B ufd=eTfud & Tt 81

18, 36, 25, 50, 39, ?

A) 72 B) 76
C)74 D) 78
87. Which of the following numbers will replace the question

mark (?) in the given series?
12, 37, 114, 347, 1048, ?

/
& S J@eT ¥ fFAfafad & § wiF-dt e weT &g (?) & ufdwenfud
BIN?

12, 37, 114, 347, 1048, ?
A) 3252 B) 3153
C) 3253 D) 3152

88. Which of the following numbers will replace the question
mark (?) in the given series?
192, 408, 283, 347, 320, ?

/
frafafad o 9 o I 97 & 78 g 3 weT g (?) o1 o e
192, 408, 283, 347, 320, ?

A) 347 B) 324
C) 308 D) 328

89. In the following question, select the missing number from
the given series.
46, 93,187, 375, ?

/
A ueT o, <t TE 4w I g ST &1 997 HIfoig|



46, 93,187, 375, ?

A) 751 B) 749
C) 761 D) 750

90. Which of the following numbers will replace the question
mark (?) in the given series?
7, 8,12, 39, 55,180, 216, ?

/

fafafad § 3 o9 I 9w & 718 Gwar ¥ ueT g (?) B afazenfud
PHI?

7,8, 12, 39, 55, 180, 216, ?

A) 555
C) 595

91. A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.
MRNG, MVVS, MZDE, MDLQ, ?

/

e 31geRH 13T T 2 S gob ua g 21 &y g fdesedl # 9 39 W8
fased &1 T HISTT ST EeT BT PET B

MRNG, MVVS, MZDE, MDLQ, ?

B) 559
D) 599

A) MHTC B) MHRT
C) MGTC D) MHTD

92. Which of the following letter-clusters will replace the

question mark (?) in the given series?
DBK, GDL, JFM, MHN, ?

/

fAefafad o F SiF-A1 31eR-ugg & 7€ e # wed fog (?) &
wfazenfud we?

DBK, GDL, JFM, MHN, ?

A) QKN B) PKO

C) PJO D) QJO

93. Select the combination of letters that when sequentially
placed in the blanks of the given series will complete the
series.

C_BN__V__HC_B_H/ 38Rl & 37 TgIo &I Ia HIfolg
ﬁ%ﬁ’rﬂ’s‘w’ & et Termt & i BT A I& R L@t gof &)
I
C_BN__V__HC_B_H
A) VHCBNVN B) HVCNBVN
C) VCBHNVN D) VHBNCHV

94. Select the option that represents the letters that, when
placed from left to right in the given blanks, will complete the
letter series.

J_MKLJJ_KLJJ_KL_JP_L

/

33 faeped o1 T HISTT <Y 37 318RY @Y geifar 2, o= T fiu
RerT T H hHep B9 A 91V F 1Y I& W 3&R-GF AT gof 81 STI9|
J_MKLJJ_KLJJ_KL_JP_L

A)JNOJK B)JNJKO
C)NJKJO D)NJJOK

95. Select the combination of letters that when sequentially
placed in the blanks of the given series will complete the
series.

jtm _r_jt _prs _tmpr_j_mprs

/

oW IV 378R1 & 3H Y BT 9 HIfolY ST & T8 318R 4[elm H Rerd
AT IR e BT H I@T T 3 YWAT BT gof |

jtm_r_jt _prs _tmpr_j_mprs

98
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A) psmjst
C) psmijts

B) pssjst
D) pmsjst

96. Which letter cluster will replace the question mark (?) to
complete the given series?
OHVY, NFSU, MDPQ, ?, KZJI

/

& TS YGAT BT I B B [T BH-HT 318R Tg HAa9H g (?) BT
R @T?

OHVY, NFSU, MDPQ, ?, KZJI

A) LAMM B) LBMM
C) LBMP D) LBPQ

97. Which of the following letter-clusters will replace the
question mark (?) in the given series?
TYG, ?, PSM, NPP, LMS

/

fFafcfed & ¥ SH-91 31eR-u7g & 7€ e § yeAarad O (?) Bt
wfawermfod wum?

TYG, ?, PSM, NPP, LMS

A) SVK B) SUJ
C)RVJ D) RUK

98. Select the option that represents the letters that, when
placed from left to right in the blanks, will complete the letter

series.
M_WQUNS_QUOSW_UPS_Q_

/

39 fdeped &1 T BT 1 37 31&RT B <2Afdr 8, foie Rerd war #
T F ST TW W, 31&R UG BT gof B3|
M_WQUNS_QUOSW_UPS_Q_

A)SQUWW B)ISQWUW
coswawu DDSwQuw

99. Select the combination of letters that when sequentially

placed in the blanks of the given series will complete the
series.

— _YX_XXYy_Z

/

318RY % 3T JATSH BT IIT BTy o & T et & Rerd T &
AP BT 3G W AT G &1 STg |

— _YX_XXYy_Z

A) xxzx B) xxxy

C) xyzx D) xyxy

100. Select the option that represents the letters that, when
sequentially placed from left to right in the blanks below, will
complete the letter series.
p_r_po_porb_o_porb_or
/
39 faded BT o o SiT 37 378RY & &ifdT 8, fo 2 g 1y Rema
T W AP B I 1Y I ¢ I8 W 378R-<IGar qof & Sier|
p_r_po_porb_o_porb_or

[SSC Selection Post 2023]
B)loboprp
Dobrprp

A)obppop
Clobrpro

101. Which of the following letter-clusters will replace the
question mark (?) in the given series to make it logically
complete?

AYC, EUG, IQK, MMO, ?

/
Fafafad § ¥ SiF-a7 s1erR-Tqg & 7€ Saar # ¥e7 I (?) &1
dTfchep w0 I Yol X & folg gfc=ATiod Bem?



AYC, EUG, IQK, MMO, ?

A)lQas B) Qls
C) slQ D) IsQ

102. Which of the following terms will replace the question
mark (?) in the given series?
VTHJ ? TRJL SQKM RPLN

/

& € Awe ¥ FefafEd & ¥ &9 91 ug yeqares &g (?) @)
wfa=emfud Be?

VTHJ ? TRJL SQKM RPLN

A) USIP B) UZIK
C) USIK D) USLK

103. Select the letter-cluster from among the given options
that can replace the question mark (?) in the following series.
MN, NM, OL, PK, ?

/

1w Y fesea ¥ I 37 31eR-AE BT 997 BTy, St FafafEd e
A 7T g (?) & T W 31 FhdT 2

MN, NM, OL, PK, ?

A)LQ B) QJ
C) KJ D) JK

104. Select the letter-cluster from among the given options

that can replaced the question mark (?) in the following series.
KYBA, FTEE, AOHI, VIJKO, ?, LZQA

/

3T T fdepeal # & 39 31eR-THE P I9 BISIY ST [FHfAfEd e
A geAaTaes f3g (?) P wfawnfud o Twar 2

KYBA, FTEE, AOHI, VJKO, ?, LZQA

A) QENU B) PFNU
C) QEMI D) QDNI

105. Which letter - cluster will replace the question mark ( ?)

to complete the given series?
MDSA, KERC, ?, GGPG, EHOI

/
T 28 (7)) & AT R PIF AT 37&R - THg < TS L& P! gouf m?
MDSA, KERC, ?, GGPG, EHOI

A) IFQE B) IFQG
C) IEQF D) IQFE

106. A series is given with one term missing. Select the correct

alternative from the given ones that will complete the series.
COMB, GIUR, KCCH, OWKX, ?

/

3 7TE 2T 7 T U g 81 Ry v faeed) § & 98 HE faweu g
S LG BT G BT

COMB, GIUR, KCCH, OWKX, ?

A) SRGM B) MNQR
C) SGSN D) SMRQ

107. A series is given with one term missing. Select the correct

alternative from the given ones that will complete the series.
ACC, UZD, OWE, ITF,?

/

Ve 313eRH 3T AT 2 fSH Gob ue g 21 g g faesedl # § a8 98
faeped gAY I <EdT 1 QR BT |

ACC, UZD, OWE, ITF, ?

A) REN B) CRM

C) CMR D) CQG
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108. A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

TQT, ZSB, FUJ, LWR, ? / & T 4@ W U U< dd &l v

fameul % I 39 T8 fadsed &1 977 BT, S S&@aT B gof B
TQT, ZSB, FUJ, LWR, ?

A) RYZ B) RMZ

C) RYA D) RNZ

109. Select the option that represents the letters that, when
placed from left to right in the following blanks, will complete
the letter-series.

QW_RTQ_FR_QW__T__HRT

/

39 faeeq &1 aa BT S 37 318R1 BT wfafAfea P 8, S
FArfeifed Rerr weml 7 918 & <0 39 ST W 378R-4 T BT G
BTN

QW_RTQ_FR_QW__T__HRT

AJFWTGRQX BIEXTGRQX
COEWTGRQW DEWTHSQW

110. Select the letter-cluster from among the given options

that can replace the question mark (?) in the following series.
TOM, UMP, VKS, ?, XGY

/

oQ MY faepeal ¥ I 39 37eR-THg BT I PIfoig St FAefefed e
H 7o forg (?) &Y wfcfid & gasdr 21

TOM, UMP, VKS, ?, XGY

A) WHU B) WIV
C) WIU D) WHV

111. Which letter-cluster will replace the question mark (?) to

complete the given series?
NHMS, HNOU, ?, HNSY, NHUA

/

& T ST BY G A P (AT P AT 31eR-THE wed K () B
TfdeeTfud Hem?

NHMS, HNOU, ?, HNSY, NHUA

A) HNOX B) NHSX
C) HNPY D) NHQW

112. Select the letter-cluster from among the given options
that can replace the question mark (?) in the following series.
KRA, 1QZ, ?, EOX, CNW

/

fRQ 77 faepeal ® ¥ 39 31eR-THg BT 994 HIforg, ST Ffafaa daer
H 7127 f2rg (?) & T W 37 FabaT 81

KRA, 1QZ, ?, EOX, CNW

A) GQY B) GPY
C) HQX D) HPY

113. Which letter cluster will replace the question mark (?) to
complete the given series?
AZBY, BYCX, CXDW, ?, EVFU

/

& € AT BT G B b AT 70T g (?) P 1 W B AT 3718R
HHE 3TQT?

AZBY, BYCX, CXDW, ?, EVFU

A) DWEV B) DVEW
C) DWFV D) DVEU

114. Select the option that represents the letter that, when
sequentially placed from left to right in the blanks below, will
complete the letter series.



_M__G_D__M_CG_DC

/

3 fdebed &1 T BIfoTq i 37 318RT 1 <=0fdr 8, o = fag Ty
R T o oA BT F 918 I ST 781 W 378R-L@aT qof g sier

M__G_D__M_CG_DC

A)GDCMCGDG BPMDCMCGDM

C)GDCMCGDM D)GDCDCGDM

115. Select the option that represents the letters that, when
placed from left to right in the given blanks, will complete the
letter series.

DE_WG_EF_GDEFU_D_FTG

/

39 fdeped &1 T HIfSTT ST 37 37&RT &1 <2ifdr & S 519 f3u v e
YT H I1C F ¢ @A W 37eR el goi &1 St |
DE_WG_EF_GDEFU_D_FTG

A)FDGVE BJFDVGE
C)DFFEV DIDFVGF

116. Select the letter-cluster that can replace the question
mark (?) in the following series.

GAM, DCJ, AEG, XGD, ?

/

39 MER-THE BT 999 FIfoly, S FHHAfcEd SEar § g g (?) &1
Tfaeenfod &R Tmar 2l

GAM, DCJ, AEG, XGD, ?

A) VJA B) UIA
C) VIA D) UJA

117. Select the option that represents the letters that when
sequentially placed from left to right in the blanks below, will
complete the letter series.
mn_mn_om_m_nnom_mm_no

/
39 fdeped &1 T HIfoTy S 37 378R) &) g2ifar &, oy e fRw o
Rt T2 o A% BT I 919 I 2V I8 W 3TeR-$EeT JoT &F S|

mn_mnh_om_Mm_nnom_mm_no

Blonnmnn
DDmnnmoo

Almnnmnn
C)mnomnn

118. Select the letter-cluster from among the given options
that can replace the question mark (?) in the following series.
ROM, URJ, XUG, AXD, ?

/

few ¢ faaseat I 39 37eR-THg BT 997 &, S FAfefEd S@er §
Te7 &g (?) P T TR 31 baT &

ROM, URJ, XUG, AXD, ?

A) DAA B) DAD
C) DAB D) DBA

119. Which one set of letters when sequentially placed in the
gaps in the given letter series shall complete it?

no_m_Il_o_m_In_r_al

/

31&RT T BIH-TT THE & TS 31eR JTAT H 3aTell § BiAd B9 F T
RS T HAM?

no_m_l_o_m_In_r_al

A) naromra
C) noamrna

B) ranraom
D) manrmao

AEC Plus | Series

120. A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.
MHDM, MYLC, MPTS, MGBI, ?

/

e 373epH foam T & forT e ue g 81 AT Ty faedt & 39 war
farepedt BT I BISIY ST 31ehH BT T BT B

MHDM, MYLC, MPTS, MGBI|, ?

A) MJXY B) MNRS
C) MXJY D) MXYJ

121. Which letter-cluster will replace the question mark(?) to
complete the give series?
CFJK, JMQR, QTXY, ?, EHLM

/

& TS YWAT B R IR F {AY BH-AT 318R-THE WRAATID fUg (?) BY
yfd=enfid Ham?

CFJK, JMQR, QTXY, ?, EHLM

A) XBCG B) XAEF
C) WZDF D) WXEF

122. Select the combination of letters that when sequentially
placed in the blanks of the given series will complete the
series.

p_nj_c_r_jlep_njl_pr__lc

/

3MeRT & 3T JAToH BT I BIfSIY ST & TS el & Ra Tl §
THIHE BT H IW ST I AT BT IR BT

p_nj_c_r_jlecp_njl_pr__lc
A) rlpnrenj B) rppnrenj
C) rlinren;j D) rlprncnj

123. Select the letter from among the given options that can
replace the question mark (?) in the following series.
DFIL?RX

/

f&u 717 faesenl # F 39 318R FT ggq HIfS A fAAfafed dwen &
7 {2 (?) BT wfa=eTfid & FebdT 8l

D, FI?RX
A) O B)M
CL D)N

124. Select the letter-cluster from among the given options

that can replace the question mark (?) in the following series.
BJT, DHV, FFX, ?, JBB

/

g Ty fapeal § § 39 37eR-UHg &1 9T BTG Sff fAmfeferd f@ar
A wedaTess fog (?) @Y wfawenfud o= Jesar 2

BJT, DHV, FFX, 2, JBB

A) HDY B) HCZ
C) HDZ D) HCY

125. Which of the following letter-clusters will replace the
question mark (?) in the given series to make it logically

complete?
YXZ, VUW, SRT, POQ, ?

/

FfafEd o ¥ &1 91 37eR-UHg & 7 el # wed g (?) & difdses
®Y § quf g1 & feiq fdefud sBem?

YXZ, VUW, SRT, POQ, ?

A) LMN
C) NML

B) MLN
D) LNM
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126. A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.
QRM, PWD, OBU, NGL, ?

/

Toh 373eR T T € o gos ue e 81 g Y faweat # & 98 W
faeed g ST el Pl g1 |

QRM, PWD, OBU, NGL, ?

A) MLC B) MQR

C) MRS D) MCL

127. Select the option that represents the letters that, when
sequentially placed from left to right in the blanks below, will
complete the letter series.
C__rE_tCUr__ntC_r_Ent

/

39 I BT I9 &3 1 3 31eRT B gerfdr €, St 7 fig 7v R
T H 9T¢ F 7T B1HP B I IW ST TR 78R AT BT GJT BT
C__rE_tCUr__ntC_r_Ent

AJErnrEUT B)UrUrEUTr
C)UrnrUuUr D)UrnrEUT

128. Which letter cluster will replace the question mark (?) to
complete the given series?
UQMI, VOPE, WMSA, ?, YIYS

/

& TS AT BT G B & AT DI AT 38R THE WA g (2) B
wfaeTfod wam?

UQMI, VOPE, WMSA?, YIYS

A) XKWV B) KXWV
C) XKVW D) XVWK

129. Select the combination of letters that when sequentially
placed in the blanks of the given series will complete the
series.

_LH__U_H__U_H_NU__EN

/

31&RT & 3T HATSI BT I3 Bifor] fo & T8 st o Rerd T o
iHP BY J IW TR el gof &1 STreft|
_LH__U_H__U_H_NU__EN

AJE,UN L NELEHL B)UELENNLHNE
C)U ENLENLELH D)UEN,LELHLEH

130. Select the combination of letters that when sequentially
placed in the blanks of the given letter series will complete the
series.

ab_eea_bc_eaaa_cee

/

&R & 3T FAISH BT 9a Bifory o & 118 318R J@ar & Raa

T 7 ohffis BU J T@T W LW T &Y AT

ab_eea_bc_eaaa_cee

B) caeb
D) ccae

A) aecc
C) caec

131. Select the option that represents the letters that, when
sequentially placed from left to right in the blanks below, will
complete the letter series.
tu__X___Uu__Xy___VXX

/

39 fdeped &1 T Hifery St 37 37eRY &1 <2ifar €, o< o9 7 few v
Rert ToIT 7 ehfHes B9 J 91¢ J IV &1 SITdT 8, A 38R Y&eT Dl R T
R

tu__x UU__XYy___VXX

AEC Plus | Series

AJuvxyuvxtuuy
Cluvxytvxtuuy

BJluvxxtvxtuuy
Dluvxytvxtuuu

132. Which letter-cluster will replace the question mark (?) to
complete the given series?
CIEO, JAAU, QSWA, XKSG,?

/

& TE WA B QI B &b [ FeTarads fog (?) &b 3 W BH A1
3&R-THg 3MTYT?

CIEO, JAAU, QSWA, XKSG,?

A) FCOI B) ECOM
C) ECRI D) FCRI

133. Which one set of letters when sequentially placed in the
gaps in the given letter series shall complete it?
WX_WW __Y_W_WXX_Y_Y

/

37&RY BT BH-HT THE & TS 78R 4@ ¥ 3favTal ¥ Biid B F &
W FH QB

WX_WW__Y_W_WXX_Y_Y

A) WXXYXWW B) YXYYWXX

C) YXXYWXY D) WYXYWXY

134. Which of the following letter cluster will replace the
blanks in the given series?
Ca _ pcad _ cad _ cadp _ aap

/
fFrefafad § ¥ SiF-97 31eR T1g & 78 e # Raa W &1
yfazerfud Hr?

Ca _ pcaa _ caa _ caap _ dap

A) aacp
C) appc

B) aapp

D) appp

135. Select the letter-clusters from among the given options
that can sequentially replace both the question marks (?) in
the following series.

ZCKR, bfow, DISB, flwg, HOAL, ?,?

/

f&u Y fepeat § I 39 31eR-UHg &1 934 HIfoly SIf AHfefed SEar
A Al eaTas gl (?) Bl hifd Bu A ufazefid o Jad 21
ZCKR, bfow, DISB, flwg, HOAL, ?, ?

A) jrfq, LUIW B) jres, LUIX
C) jreq, LUIV D) JREQ, luiw

136. Select the letter-cluster from among the given options

that can replace the question mark (?) in the following series.
LGG, PJL, KMO, OPT, LSG, ?

/

feQ M7 faepeal I 39 31eR-THg BT I PIfoig ST FAfcifed e
o weT famg (?) Bt wfdenfta & Tadr 3

LGG, PJL, KMO, OPT, LSG, ?

A) PVL B) OVK
C) NUL D) PUK

137. Which of the following letter clusters will replace the
question mark (?) and complete the following letter cluster
series?

DW, FU, HS, JQ, LO, ?

/

frafafad & ¥ SH-91 38R Tg HeTdTed g (?) HY wfawenfid s
3R &R g LG Bl R HIMM?

DW, FU, HS, JQ, LO, ?
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Creative
people

Painters

People who live in
rural areas

/

FefafEa a7 3IRE #, arf TeATeHS @ BT gidfAfda wear g, wst
&1 Ufdffaa aar 21

39 faehed o1 T B3 S TTHOT &5 B I8 aTel IHTHS OHRY 6
T Y gerfar 2l

PEGH

TS

Trefton &3 H 7@t ATt @i
A)5 B)9
Q)2 D)3

47. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of persons who like different sports.

Tennis Cricket

s
(280

How many people like both cricket and baseball?

/
13U Y 3R BT eAYd e 3rea @Y 3R YA T 3TR S| fafi= aif &
[T 3 AfeRidl bl HaT E2Afdt 8 il fafi=T @et o id 2

e fbdbe

fin)
%
>/

Gyard
A) 210 B) 100
C) 180 D) 80

48. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of persons.

AEC Plus | Venn Diagram

= Music

g%&

— Children

How many such children are there who like music but NOT
sports?

/
T T 3R BT HAYde 37eqaT Y 3R 9T &1 IR | fafi= anf
T, el P e qerfdt #1

e a@% _;:nd

A) 50 B) 8
C) 42 D) 56

49. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of persons. The circle represents ‘'men’, the square
represents ‘photographers’, and the triangle represents
‘musicians’. How many men are there who are NEITHER
photographers NOR musicians?

3y
75

/

3T Y 3R BT eYd e 3reaa HIg 317 7o &1 3R Q)
faf=1 anif o Hear efarl P e qerfdt 81 ga 'geel’ @1 ufdfifaa
Wﬂﬁﬁﬁamélw%ﬁwéﬁqaﬁmgﬁ?qé

R

A)2 B) 4
C)5 D) 6
50. Consider the Venn diagram below, and from the given

alternatives, choose the number that indicates the total
number of girls who are players and dancers.

Players

/A f&g g 3 3 R AR &, 3R g e feedt § & 39 e
mﬁwﬁ?@ﬁvﬁﬁmﬁwmaﬁ@ﬁm%ﬁmw
[
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Reat < Bus
Vehicles

A) 6 B) 4 / _ )

Cc)8 D)7 I BT Pt HeAT {22

51. How many red cars are there?

Black Cars

Blue
Cars

Red Cars
/
fasat @t KR 22 A)13 B) 14
Bl C)15 D)7
ack Cars

54. How many pens are there?

Blue ’
Cars PBQCIl
18 Pen
[ 4
4
Red Cars 12
/ 9
A) 31 B) 22 8 Scale
C) 28 D) 33

52. How many reptiles are neither mammals nor amphibians? %mﬁﬁ??

14 Ufe
—— Reptiles A\
8 5 2
16 q=

4
Mammals 12 /43 & “/a 12
/ 9
8 i
OHET

Amphibians

/

" . A) 21 B) 16
s T8gT 7 A TaAuY & 3R 7 € R 7 €) 20 D) 25

14 L gy 55. Study the given diagram carefully and answer the
8 /N5 questions. The numbers in different sections indicate the
ol number of persons. How many people are educated and rich
L \ 12 /43 but not famous?

6 Educated Rich

/3
@

C)12 D) 9 Famous
53. What is the total number of buses? f/'?{Qﬂ'QmEFr : N R
fafi= anf & & 7S T, afaxal &Y I & gerfd 81 feay
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arfém EI IR, Pink

X

Green

A) 2 B) 5
C)3 D)1 /i ; . .
56. How many black tables are there? TdeE 3ﬁ—\r1 it €2
Green '
tables ,L

Black
tables a0
/
. . . A) 10 B) 17
& TS 3Tpfa W Brett Al Y TAT fhat &2 C))9 D))8
Wit T 59. How many register are neither tools nor sword?
18
6 N7
_ 7 \4a/3
Hret 7t Register 16
Tools
Sword
/
A)9 B)8 o IoRer 7 aY 3R & 3R 7 & dorar &2
C)7 D) 14
18
57. How many balls are neither bat nor tyre? m
) 7
4 5
15 8 GEEIL
6
| 3
Ball | A) 24 B) 18
a
Bat )15 D) 25
/ 60. How many are both buttons and bottle?
fraf AT M I & 3N T € erR 82
TR 2 /\ 7 Button . 8 L > Watch
4 5 2\ 3
15 8 16 5
6 1 Bottle
A 5
‘Td i /
& Fe 3R aae Y fba &2
A) 15 B) 21
C)23 D)8 e L e
58. How many pink are neither green nor yellow?
EiG
A)3 B)7
C)5 D)2

61. How many hands are hairs?
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l— Hand

Hairs

A) 8 B) 4
C)é D) 15
62. How many wrappers are not pens?
Pens
6

Wrapper

bLis
A7 B) 18
C) 12 D) 15

63. Study the given diagram carefully and answer the
questions. The numbers in different sections indicate the
number of students who play different games. How many
students play only one game?

A udo
(NN
/

3T MY 3T BT Bgdes 368 Bifory 3R weat & I Afew)
= anf 7 & 7€ J=ny fafi= Oa W arel B By T B aRrfdr
2| o BT Pad U T WAd 27

adE LS

Chess

(&2

3

AEC Plus | Venn Diagram

A) 32 B) 37
C) 61 D) 53
64. How many tablet are only car?
Car
Tablet
Phones
/
fosam dacie FaeT BR &7
ks
2ade
A) 4 B) 12
C)8 D) 17
65. How many houses are there which are only bikes?
13 Houses
11 |10 y —_
6 5 [ Lars
8
Bikes
/
W fa =R 8 it adt 918 &7
13 %
1" 1[)‘:l -
6 5 = @I
8
CIEGD
A)16 B) 21
c)n D) 10

66. How many horses are neither clips nor bags?

Bag
A2

6,

8 9
4

Clips f 5 'E

Horses

(=3}

(5]

/
fea B T al fra € IR TS I &2
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fems

uls
A)9 B)7
Q)5 D) 4

67. In the following Venn diagram, the hexagon stands for
'police officers’, the pentagon stands for ‘graduates’, the circle
stands for 'females’, and the square stands for 'Indians’. The
given numbers represent the number of persons in that
particular category.

How many Indian police officers are graduates but NOT
femqles7

ﬁﬂﬂ?mﬁ fIRY @Y, U HATdE BT,
et HfRET3iY B 3R @t MR By qerfdr €1 & ¢ wearg 3 e
Ao} F farral Bt GweaT o1 2ufdt 7

A) 19 B) M
C)8 D) 13

68. In the following Venn diagram, the triangle stands for
'fathers’, the circle stands for ‘engineers’, the hexagon stands
for 'tax-payers’, and the rectangle stands for ‘blood donors'.
The given numbers represent the number of persons in that
particular category.

4

27/ |9 41
20| /36| /7N 17

576\ 26 \ 50

How many tax-payers are also blood donors?

/

ffcfEa a7 sma #, s, o @1 g2rfar &, g4, SSifRR) @
Z2rfdT 8, TS, "BRETdT3AT BT GRATdT &, 3TR 377, e ardr3il’ el
gerfar &1 < 7 FeaTt 39 fad ot ¥ ey B et qerfd €

AEC Plus | Venn Diagram

fepam eeTdT, Iarderar ¥t &2

A) 38 B) 63
C) 61 D) 55

69. In the following Venn diagram, the pentagon stands for
‘clerks’, the triangle stands for 'coffee-lovers’, the square
stands for ‘car-owners’ and the circle stands for 'social
workers'. The given letters represent the persons in that
particular category.

Which of the following categories of persons is represented by
the letter 'D"?

/

FAfcifEd 97 31E #, Genst ‘aetes’ BT &RfdT 8, ST "BIt! U &
aret’ B Zeifar &, avf 'BR & Arfaswl o gerfar € 31k g e
BRIGal oY grfar g1 ST Y 378R 39 faoy Juft & Afarral &1
Tfaffoa & gl

frafafaa o S fea 9uit & aferal o) 'D' 31eR gRT <2Ifar SiTaT 22

B) Coffee-lovers who are car-
either car-owners or social owners and social workers
workers /Il & H 1ol ST also / BT T HA dTel ST PR
T AN PR &b Alfcieh & AT AT & Alfciep 3R HTHTSTep brdepdi HT
HTdhal &

A) Coffee-lovers who are

D) Coffee-lovers who are car-
owners, social workers and

C) Car-owners who are
coffee-lovers but not social

workers / BR- cIerks also / BT UHe B aTet
TR B § Afde ATHTfGIR | ATATfSTR
PprRiedf T8l & W’fﬁ?iﬁ?ﬁ‘-ﬂg

70. In the following Venn diagram, the oval stands for
'chartered accountants’, the pentagon stands for 'males’, the
triangle stands for 'full-time employees’, and the square
stands for 'tax-payers'. The given numbers represent the
number of persons in that particular category.

13
2

How many male charted accountants are NEITHER tax-payers
NOR full-time employees?

/
fAfefEd 97 31 #, 3ieeR ardd versde & fav 2, vengst 'genl’
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forw 21 & 7€ T 39 fad vt # eafaaa) S dwar qerfd €
13

2

b g TS Yabt3ee 7 dl dardl 8 3iR 7 &€ golericies et 82

A)17 B) 14
C) 22 D)8

71. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of different types of juices containing different fruit

flavours which are manufactured by a juice company.
Apples Mango

O
.

Strawbermy

How many types of juices does the company make that
contain both Apple and Strawberry flavours?

/
13T Y R BT eTYdeh eI BT 3R 77 &1 IR S|
fafi= amt o & mit WA, i wal & @Ts arel fafi= R o St
T T FRATA & ST b S[H Ut gRT HfFd B 11d &1

a4 3

é%&

A) 41 B) 8
c)10 D) 18

72. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of persons who eat a particular food for dinner every
day.

Potatoes Chickens

(19
ATE
0

Eggs
How many people eat potatoes and eggs for dinner but NOT
chickens?

/

1Y MY 3RE BT B 3T BIfoTy 31K 71T &7 3R AfSiTl
fafi= amf & & 7€ T=Q 37 afaal B T geufdt € s ufafeT afy
P HISH H T a9 1S &1 2

AEC Plus | Venn Diagram

(577
g

fasae @ M3 & WISTT | 3719 31K 378 @Td € Aifes e I8! @rd 82
A) 36 B) 21
Q)15 D) 81
73. Study the given diagram carefully and answer the
question. The numbers in different sections indicate the
number of persons in a company with preference for different
foods for lunch.
Soup

25
2/

Salad

Stew
How many people prefer salads but NOT stew?
/
g g 3vE & 3T PBISIY 3R 4T BT 3R aIforg|

Hqdd
fafi= anf & & 7 Gy v Ut # QueR & Wi & fag fafi=
Irer verelf ol U< e aTe) e feidl <t TeT S2ridt B

Hellg TE]

(i2
A
2

L
A) 51 B) 29
C) 39 D) 41

74. Study the Venn Diagram given below and answer the
question that follows.

666 le—— Engineers

5 I-(-— Females

634 11 f&— Drivers

2 756

4| 51 8| 13 |22]19

435 l«— Doctors

How many female engineers are drivers but NOT doctors?

/
T ST 71T 97 3RS &7 31y HIfSY 3R 39% 71 g 7y oAt &
IR &S

Go% le—— &afifae

2 756
33

13 | 22]19] s ](—nn's_‘-f-v-

634 11— glsdd

]

w
o}

[4

435 [e— Ziaey

fpaT AfgaT SSfToR S8R & @ifds siaex 78l &7
A) 22 B) 19

C)13 D) 8
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Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

fw Mo Yo @1 3T BT 3R 3T AT BT TIT

PHISTY ST 398 TeTaTaes g (?) Y Hfazenfid & Tl g1

g Ufer: 187, 164, 141

g dferd: 215, 192,169

Y difer: 178,155,2 ]
(AYe: 13Tt BT 39 Ted 3wl ¥ ars fodT, goi wwarsi w dfear
Y ST 1T 3aT8R0T & fAT 13 - 13 W Gfharg S 6 13 & Sigar /
T / TOT BRAT 37TfE fasarm 11 Hepar 21 13 1 1 3R 3 H arsr, 339%
15 1 3R 3 W 0T Afharsit o1 B Hr sigAfd T&f 81)

A) 129 B) 131
C)123 D) 132

17. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 17, 26, 60

Second row: 8, 15, 31

Third row: 11,19, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

w0 et @1 wHydes g ISy 3R 39 T &1 9uH Bifeig
S 3HH wRAdTE faE (?) D1 AiawRiTiud B Hebd! |

Ed! dfer: 17, 26, 60

I Ufer: 8, 15, 31

e dferd: 11,19, ? '
(AYe: ATt BT 30F Teh 3id! H are fan, qof dwansii w dfearg
I STHT =MRY 1 32807 & AV 13 - 13 W Hiharg S fds 13 1 Siver /
T / TOT 3T 3711 fsam 511 |epam 2113 1 1 3R 3 H avsr, 39%
1% 1 3R 3 R TIOT Sfeharsi B e P 3gwfT 78T 21)

A) 52 B) 41
C) 48 D) 50

18. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row- 9, 34, 72

Second row- 7, 26, 56

Third row- 23, 90,?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 - Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed.)

/
g Y e 1 wydes 3nadT SISV 3R 39 &A1 &1 98 HIfSg
ST 3HH wRAdTE fHE (?) BT AfawRiTiud R Hehd! &l
ggell dfaw- 9, 34, 72

dferi- 7, 26, 56

dfewd- 23, 90,2 .
(AYe: J@T3A BT 34 Teb il H drs fodr, qof Wi w Hfeary
I ST =Y 3807 & AT 13 - 13 W HikaTg S fds 13 1 Siver /
T / TOT AT 31 fdsam 511 Hepam 2113 BT 1 31R 3 H arsr, 39%
1 1 3R 3 R TIOT Afeharsi B e P 3gafd 78 21)

A) 184
C) 146

B) 148
D) 164

AEC Plus | Missing Number

19. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 54, 72, 90

Second row: 79, 97, 115

Third row: 83,101, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

few Mg Yo 1 wrgde 3neaaT HIfSY 3R 39 Hwa1 &1 9u9 HIfSg
S g9 geAarad fog (?) Tfdvefid o Iadt g1

Tgelt dfeRt: 54, 72, 90

& dfeRd: 79, 97, 15

R dfer: 83, 101, ? '
(Are: H@AT31l BT IHP Heb g 37! H drs foT, qof Fwarsii o digsarg
T ST ST 3&TER0T 6 AT 13 - 13 TR ey SR o5 13 1 St /
HMT / 0T AT 311 T ST ebar 81 13 1 1 31K 3 # dle, 39%
18 1 3R 3 TR TR Hfdsamai BT e Bi 3gHd T8 21)

A) 114 B) 120
C) 119 D) 129

20. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 8, 13, 25

Second row: 12, 7, 25

Third row: 9, 15, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

g g Yo &1 Y BT 3R 37 Hw=aT BT I
PISTT S 37 TeAaTas g (?) @Y ufazenfid &R Fadt 21

Ygel dfd: 8, 13, 25

&R dfeRd: 12, 7, 25

et g 9, 15, ?

(ATe: @1 BT 3% T 3iepl § famrfSia fasg feam, qof dwamsi =
TfoFATT BT STHT AT | 3&TERUT b Ay, 13 - 13 TR ARBAT] oI T
SITSA/FST/TOT &3 3TfS T 13 # fasarm 11 |epaT 81 13 BT 131k 3 1
dArea 3R fiR 1 37k 3 W Tfordt Afehansii & asx &Y 3gafd & 81)

A) 36 B) 30
C) 16 D) 49

21. Select the set in which the numbers are related in the same
way as are the numbers of the following set.

(75, 25, 28)

(136, 34, 38)

(NOTE : Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

TBR FAEAfafed g & dwm 2l

(75, 25, 28)

(136, 34, 38)
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(AYe: AT BT AP T 37! W A o, of Fwarsh w wfsarg
I ST =Y 32807 & AV 13 - 13 W HihaTg S fds 13 &1 Siver /
T / TOT AT 37T fasam 511 Hepam 2113 1 1 3R 3 H arsr, 39%
1% 1 3R 3 R T Sfekarsi B e P 3gwfd 78 21)

A) (27,9, 15) B) (45, 9, 12)
C) (55, 5, 1) D) (105, 35, 38)

22. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 58, -28, -90

Second row: =17, 21, -12

Third row: -8, -7, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

g My Yo &1 3 BT 3R 37 AT BT T

PIfSTY ST 3TH FeT forg (?) BT HfawTfid o Fabd! 21

9Ee! dfd: 58, -28, -90

G dfert: <17, 21, -12

Y dfery: -8, -7, ?

(AYe: AT PY AP TehIT 37! H AV i, qof Fwarsi w wfsarg
&Y ST TIfEY| 3aTeRoT & AT 13 - 13 R AfhaTg Sy 6 13 Y SireAT /
T / TOT BT 371 fasam 511 |epar 2113 1 1 3R 3 # arsr, 396
1% 1 3R 3 R TIOT Afeharsi B B B 3gwfT 78T 21)

A) 38 B) 45
C) -40 D)-35

23. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 5, 9, 56

Second row: 4, 7, 33

Third row:10, 11, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

&g 7g Y o1 wgdE 3nage HISY 3R 39 T BT 99T HIfSg
ST S gRAarad fag (?) ufdwenfud & ddbdl 2l

Tgett Uferi: 5, 9, 56

T UfeRT: 4, 7, 33

d_Y W10, 11, ?

(AYe: T3t Y TP TeBT e A AT e, qof Tarsi w wfrarg
P ST TIRT | 3eTeR0T & fAY 13 - 13 TR Hfshamy S b 13 1 Sirer /
AT / 0T FeAT AT fosam ST wasar 21 13 &1 1 31R 3 ¥ dieT, 39%
1% 1 3R 3 R ORI Afeharsi B e B 3gwfd 78T 21)

A) 30 B) 26
C)23 D) 21

24. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 32, 51, 33

Second row: 28, 33, 25

Third row: 16, 27, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as

AEC Plus | Missing Number

adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

eT 7Y e 1 WHYde 3 HIfSg 3R 39 WEAT 6l I8 BIfoig
S 3% yeF fag (?) BT ufdwenfud o ot &1

ugal tferT: 32, 51, 33

I dfart: 28, 33, 25

TERY dfeR: 16, 27, ?

(e T Y 3P TebIg 3Bt H A T, yof Jwamsit w dfkarg
&Y ST TIRY | 34TeR0T 3 AT 13 - 13 TR Tharg SR 35 13 Y SreT /
T / 0T AT TR faam ST Fepar 21 13 &1 1 31K 3 H dler, 39%
a1 1 31R 3 W TIOTdT Tfoamsi B B3 B 3rgHfd T 2)

A)19 B) 17
C)15 D) 18

25. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 32, 40, 18

Second row: 38, 46, 21

Third row: 33, 43, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding / deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed).

/

T T e @Y v A ufey 3R 39 Gear &1 g KIS S 59
TRAdTES % (?) BT wfdRenfud & Todt 2l

gt UfeRt: 32, 40, 18

I dferT: 38, 46, 21

AR dfeRd: 33, 43, ?

(e TEATH DY TP Tebg 3t H A faam, yof Jwamsit w dfkarg
&Y ST TRY | 3&TeR0T 3 AT 13 - 13 TR Afharg SR 35 13 Y e /
HCHT / T[0T 63T 3TfS T2 ST FebdT 81 13 @1 1 33K 3 H dledT, 389b
a1 1 31R 3 W oI Tfoamsn B B B 3rgafd T8 2)

A) 21 B) 19
C)17 D) 23

26. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row - 15, 62, 120

Second row - 18,74, ?

Third row - 21, 86, 168

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 - Operations on 13 such ass adding /
deleting / multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

&g 7y e &1 wmyde sregae SIS 3R 39 Gear &1 oo HIfS
S 5 weaTad foE (?) P ufaRenfud e Jeedl 81

Ugd! Ufa - 15, 62, 120

S dfert - 18, 74, ?

AR UferT - 21, 86, 168

(e TEATHY Y TP Tehg 3t F A faam, yof Jwamsit w dfkarg
&Y ST TIEY | 3&TeR0T & iy 13 - 13 TR Ffebarg S e 13 Y SeT /
HCHT / T[0T B3AT TfE fdsarT ST FebdT 81 13 @1 1 33K 3 H dledT, 38b
91 1 31R 3 W TIOTT TfeaTsi Bl B3 b 3gHfT T8 2)
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A) 144 B) 142
C) 122 D) 124

27. Study the given pattern carefully and select the number

that can replace the question mark (?) in it.

First row - 19, 81, 30

Second row - 42, 57,107

Third row - 23, 45, ?

(NOTE : Operations should be performed on the whole

numbers, without breaking down the humbers into its

constituent digits. E.g. 13 - Operations on 13 such as adding

/deleting /multiplying etc. to 13 can be performed. Breaking

down 13 into 1 and 3 and then performing mathematical

operations on 1 and 3 is not allowed)

/

&g My Y @1 37z BISTY 37R 3 T BT T

P ST 397 weTaTas &g (?) BT ufdwenfid o Fadt 2

gt dfeRt - 19, 81, 30

IR dfeRT - 42, 57,107

T dfert - 23, 45, ?

(e ESTe: Fwamsif BT 38 " i H fadfSid g fam, gof

AT W AfbATY BT ST =MfEy| 3eTeRor &b fig 13 - 13 W

HSATY SR 13 I SAISAT/EHT/TOT BRAT AT {521 ST Jebal 21 13 BT

;ﬁsﬂwﬁmsﬂ?ﬁm 3R 3 R fTidta Afkamt s & sgAfa
21)

A)75 B) 82
C) 54 D) 66

28. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 86, 82, 56

Second row: 74, 67, 47

Third row: 54, 48, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/
g T Hef @1 wrde 3neaae o} 3R 3T T BT a9 B S
I HeAdTEIp &g (?) Y ufaenfud B Jobdl 2
Ugell ufeR: 86, 82, 56

Yfert: 74, 67, 47

Yfemi: 54, 48, ?
(re: Fwarsil T 30F Ted 3wl | fnford foby fomr, gof dwansi w
HfgaT &Y ST T1fdv| 3TER0T & fAT 13 — 13 W ¥fshar 2 5 5 13 &1
SISAT/ECTHT/TOT 37118 13 & {31 ST FehdT 81 13 &1 1 37R 3 7 drer
31K i 1 31R 3 R ot Hfsar &3 BI sigafa T8 )1

A) 34 B) 38
C) 32 D) 37

29. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 16, 12, 48

Second row: 9, 8, 24

Third row: 4,24 ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

AEC Plus | Missing Number

f&w 79 e @1 3T Y 3R 3G AT BT IIT B oIl ST
woF fIrg (?) Y ufazenfud &R Ib|

gl uferT: 16, 12, 48

IR dfeRi: 9, 8, 24

AR dferT: 4,24 2

(ATe: WEAT3 BT 38 " 3ipl # dis fdaT1, gof dwarsii ur wfdsar

BT ST ARV 3ETER0T P AT 13 - 13 TR Ffehanaii S & Sire/gem/
TOT R 3ATFE <Y 13 W 3T ST FebdT 81 13 1 1 3R 3 # dle, 3db
18 1 3R 3 R ORI fosamsi BT e Pl 3 T8 R)

A) 48 B) 46
C) 50 D) 44

30. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 86, 72, 158

Second row: 98, 111, 209

Third row: 76, 65, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

ow T T BT wrdE 3R HIST 3R 37 T BT 99 SISy
ST 39 e fog (?) T Ufaenfud e T 21

gl dferd: 86, 72, 158

&R dfeRi: 98, 111, 209

dsY dfemT: 76, 65, ?

(e AT BT I8P Hed il § faTferd by famr, gof dwamsi w
TTer fpam ST =fgv| 3eTevoT & fAv, 13 - 13 TR JaTe o fh
SITSA/ESH/TUTT &3 HTfE BT T ST FebdT &1 13 b1 11 dlga 37 3
3R R 1 3R 3 W forcdta Afspansil o a3 & 31gafd T8l 81)

A) 148 B) 131
C) 4 D) 137

31. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 24, 12, 27

Second row: 29, 13, 64

Third row: 32, 24, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

fou Y e w1 wHyde 3reaae B 3R 3T T@AT BT 9 BN Sl
3O HeAdTad g (?) Bl Afdefud o Tt 2|

gelt dfeRT: 24, 12, 27

&I dferd: 29, 13, 64

Y dfeR: 32, 24, ?

(ATe: TEAT3N BT I8P T 3ip! H drs f&qT, Yol Jw=msi w®

TfdsaT &Y STHT ATEY | 3&TE0T & g 13 - 13 W Hfcharsil S fés
SAIS1/8eH/TOTT B3 3AT(E BT 13 H AT ST HbdT &1 13 P11 3R 3 H
dreT, 39 a18 1 3R 3 W TIfordtar \fhansi o1 &3 o sgafd T8 2)

A)9 B) 15
cs8 D)18
32. Study the given pattern carefully and select the number

that can replace the question mark (?) in it.
First row- 2, 57,7
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Second row- 6, 225, 3

Third row- 5, ?, 2

(NOTE: Operations should be performed on the whole
numbers, without breaking down the hnumbers into its
constituent digits. E.g. 13 = Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

1 QYo PT wYde 3T oY 3R 39 HAT BT 99 HIST Y
39 geAqTees faE (?) BT wfawenfid o Fesd! 8l

Uge! Uferd- 2, 57,7

o dferd- 6, 225, 3

) dferd- 5, 2, 2

(F1e: FAT3H BT 37P T 3ipl § ffsra fy fomr, qorfet w
HfSATY AT b ST =MfEY | 32Te0T 13 - 13 WR Hfhary oI 13

o SIe1/9eH1/10T HRAT 31T a1 ST Jepar &1 13 BT 1 31R 3 ¥ argAr
37R fo52 1 31R 3 W fUTdT Tfshansil ®Y a3 & srgAfa 78 )

A) 192 B) 127
C) 172 D) 129

33. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row- 12, 51, 159

Second row- 9, 39, 123

Third row- 8, 35,?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

g Y tedf w1 wryde 3T ) 3R 3T ST BT a9 B S ITH

AT I (?) T wfdweftd & Jb|

gl Uferd- 12, 51, 159

I Uferd- 9, 39, 123

e dferd- 8, 35,2

(FATe: TEAT3N BT 3T® Tk 3wl H fonrfSa fasy fomm, gof dwamsi w

HfdsaT Y ST TTfeq| 38TER0T & fAT 13 - 13 W Hfsar S 16 S/

B2 / T[0T & 3111 T 13 H fobarm 511 HepaT 81 13 BT 1 3R 3 H

%ﬂﬁamsﬁ?ﬁw1 3R 3 W ot Afsamait B &3 Bt 3wt
@)

A) 91 B) 1M
C) 101 D) 99

34. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row- 5,16, 77

Second row- 13, 12, ?

Third row- 8, 19, 149

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

fRg 7g Yo 1 Hgde 3naae HISTg 3R 39 Hwa1 &1 I8
BT 7 397 geAaras O (?) ufawritd &2 Fabdl 21

g Ufai- 5, 16, 77

IR dfeRd- 13, 12, ?

et dfeRd- 8, 19, 149

AEC Plus | Missing Number

(ATe: T3 BT 3T% Tk ipl § ars faar, I Tt w didsar
o ST TTfev| 378301 & v 13 - 13 WR Afdsar S 16 13 & SireA1/
e /T @A 371 fasam ST Fesar 81 13 @1 1 31K 3 # drean 31k fix
1 3R 3 WR TIfordia Tfskar e P AT TE 2)

A) 157 B) 153
C) 151 D) 155

35. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 2, 3,17

Second row: 4, 6, 100

Third row: 5, 2, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

g 1 e w1 wmde sreaae HIfST 3R 39 @ o 9o Y
S 39 geAdTee fog (?) T I of Hebdl B

Tgelt U 2, 3,17

I dfert: 4, 6,100

T dfem: 5, 2, ?

(1e: AT BT 38P T 3l § fauTford by femr, gof dwamsii w
TS BT ST A1feq | 3&TER0T & T, 13 - 13 R Ak Sy

{5 STreAT/aeH1/10T &7 317G &Y fbaT ST Hpar 8l 131131k 3 °
dre 3R oY 1 3R 3 W TIfOid Tfeharait Y B B 37gAfT T&i 21

A) 129 B) 127
C) 125 D) 120

36. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 12, 36, 60

Second row: 24, 72, 120

Third row: 33, 99, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 - Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/
fw 7g Yot w1 wgdE 3T Y 3R 3T TWAT BT I B AN
3H HeAarad fag (?) Ufazenfud & Tabdt 21
gell dfer: 12, 36, 60

Yferi: 24, 72, 120

Ufa: 33, 99, ?
(ArE: HBAT3H BT 39B " 3ep! H feTfSid by famr, gof Twamsif w
TfsaT BY ST I1fET | 318’07 & fav 13 - 13 W Gfshar iy b 13 &1
SHEAT/EITAT/TOT 3111 13 W {3531 ST wesar &1 13 &1 1 311 3 ¥ arsAr
3R R 1 3R 3 W Ot ST a3 & 31gafd T8l 8)1

A) 160 B) 175
C) 140 D) 165

37. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row : 24, 9,108

Second row : 38, 5, 95

Third row : 12,17, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
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adding / deleting / multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

eU TV et &1 WY 3 H 3R 3 H&T BT 93 o SIf §80
77 forg (?) 1 ufawTfod o aF |

Yge! Uferd : 24, 9, 108

It dferi - 38, 5, 95

T dferd 2 12, 17, 2

(FATe: T3 DY 35 gk 3P # ars for, gof Jwamsit w Hfdsar &
ST FTET 1 3&TER0T & AV 13 - 13 R Afebansit S s srea/fiem/
TOT R 371 <Y 13 H BT ST FebeT 21 13 1 1 3R 3 § dleT, 3d5
a1 1 31R 3 W IO Ffgsams &1 3 B 3gwfd T8 2)

A) 112 B) 96
C) 90 D) 102

38. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row- 5, 39, 8

Second row-7, 36, 5

Third row-11,?, 9

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding
/deleting /multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is NOT allowed)

/

Q79 e o1 wryde g HifSiy 31k 39 I o1 gaq Bifeig
ST 3 TeTaTa g (?) BT ufcReTfud @ Jebdt 21

Tgal! U - 5, 39, 8

I dferi - 7, 36, 5

R dfar - 11,2, 9 .
(ATe: H@aT3Hl BT 37 b 37 W dls feHT, ol Hwarsil w Hiskang 6t
ST TIfET | 3&TeR0T & AT 13 - 13 TR Hisharg SR 13 @Y SiisT / gemT
/ T &R 37TRE T ST HepaT 81 13 BT 1 3R 3 W atsr 3R {1 3R

3 W T Tfhars & Y argwfd 7€ R)
A) 60 B) 40
C) 50 D) 70

39. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

First row: 17, 8, 153

Second row: 19, 6, 133

Third row: 13,7, ?

(NOTE: Operations should be performed on the whole
numbers, without breaking down the number into its
constituent digits. For example, 13 — Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

/

eT g Y &1 Wryded 3T BISTY 31 37 & &7 a9 1
HIfSTY St gl we forg (?) 1 ufdzenfud e Fb|

gt dfeR: 17, 8, 153

I dfeRd: 19, 6, 133

TR dfeRT: 13, 7, ?

(Te: T3t BT 3TF Tedw ip! ¥ fnford fiy f§ar, gof dwanst w
HfehaT bl ST =iy 3eTex0T & fei g 13 - 13 WR Hfshan S b g /
B / O & 3T1E 1 13 # fasar ST Hpar 21 13 1 13(R 3 H
fTfSTa @t 3R 952 1 31R 3 R fUidi |febarsif 1 & & srgafa
T R)

AEC Plus | Missing Number

A)103 B) 113
C) 109 D) 104

40. Study the given matrix carefully and select the number
from among the given options that can replace the question
mark (?) in it.

71131174
9125|104

1130] ?

/

&g 7Y 3egE BT EEYdS e HISY AR Y MY et ¥ F 39
T &1 T BIfoTq S 390 Yo g (?) Bl ufawenfud o edl
2l

71131174

9125|104

1(30| ?
A) 335 B) 129
C) 431 D) 100

41. Study the given matrix carefully and select the number
from among the given options that can replace the question
mark (?) in it.

6|18 |42
5115 ?

736161

/

T TTY 31TegE w1 wETYde e HifSig 3R T 7Y fawedt § 4 39
T BT T BIfSTY St 390 1T g (?) &1 ufd=erfia @ g &l
61842

5(151 ?
7136] 61
A) 25 B) 45
C) 53 D) 30

42, Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

81676
12110| ?
7113|113

/
g TT¢ a0 BT WY stz HISY 3R 37 T BT 997 Bifrg
S 39 yeAdTas e (?) B ufdvenfud &R ab|

86|76

12|10] ?

713|113
A) 117 B) 128
C) 120 D) 110

43. Study the given pattern carefully and select the number
from among the given options that can replace the question
mark (?) in it.
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111151 9
14116
75(31|88

/
o g Yot w1 rargdE sreaaa Biforg 3R e e fdeed ¥ 4 39
TR T T BT S 390 U7 &g (?) &Y ufazefud o Iepd! 2

1|15 9

14116 ?

75|31|88
A) 25 B) 18
C)13 D) 22

44. Study the given pattern carefully and select the number
from among the given options that can replace the question
mark (?) in it.

2413632
61317
1212 |24
12|54 |24

/
f&w v et 1 wHyde st Hifoy AR e o foewsent 7 3 3w
AT BT T BIfSTY oIl 390 97 g (?) BT gfdwemitd o I Bl

2413632

61317

1212 |24

1215424
A)10 B) 15
C)18 D) 29

45, Study the given pattern carefully and select the number
from among the given options that can replace the question
mark (?) in it.

15] 81 |12
18199 |15

17 (120| ?

/

eQ MY Yot &1 wHYde sneaad Fifey 3R &y Y faeseal & 9 39
T BT T BIfTY S 30 TeTdTees &g (?) ) ufawunfud e bt
H

15( 81 |12

18199 (15

171120 ?
A)9 B) 13
c)n D) 16

46. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

AEC Plus | Missing Number

60152161
14118 | 17
19|72

15
/
f&w Mg Yo w1 wHyde snaae HIfSTg 3R 39 Hw B gAY S
TRAGTIE fIE (?) BT Wawfid o Fepa 8l

60 152|161
14118 | 17
151191 ?

A)23 B) 13
C)19 D)7

47. Study the given pattern carefully and select the number
from among the given options that can replace the question
mark (?) in it.

1812419
8|9
8|1|14

17172 (14

/
few my e w1 wryde sreaae fasfarg 3k foy g fdeweat #3939
T BT T hIfSTT ST 3TH UoAdTHew &% (?) &) Hfa=emfud o= I |

18124119

8|9
8| 1|14
17| 2 |14
A)15 B) 21
C) 38 D) 30

48. Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

14121(165
13119] ?
10(17] 99

/ &R T Y 1 wHyde 3nam BIST 3R 39 W & 9
BT S 387 TRAarS o7 (?) BT AfdwuTod o2 a6

14121]165
13|19 ?
101799

A) 140 B) 156
C) 120 D) 175

49. Study the given matrix carefully and select the number
from among the given options that can replace the question
mark (?) in it.
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/

& TS 3l # feiesan fasa et 82
A) 32 B) 20
C)28 D) 24

49. Find the total number of triangles in the given figure.

/

& T 317t W BSI BT e HAT AT BT
A) 11 B) 12
Q)9 D) 10

50. How many quadrilaterals are there in the given figure?

/

& S 3epfd W fasas agds &2

A) 23 B) 22
C)24 D) 25

51. How many quadrilaterals are there in the given figure?

@ 7TE 3Pl H fba agsT 2

|
A)19 B) 21
C)18 D) 22

AEC Plus | Counting Figures

52. Find the total number of quadrilaterals in the given figure.

/

& M NP W TGS BT Pt AT A1 BV
A) 4 B) 6

C)10 D) 8

53. How many triangles are there in the given figure?

/

& M€ 3npfd # fosa Bryet 82

A)10 B) 13
C) 12 D) 11

54. How many triangles are there in the given figure?

/

& ¢ 3npfd # fosa nyer €2

A) 16 B) 18
)19 D) 17

55. Find the total number of cubes in the figure.

/
TBia H BT BT el H@AT FTd PIoT|
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A8
C)10

B) 1
D)9

56. Find the total number of triangles in the figure.

AEC Plus | Counting Figures

57. How many triangles are there in the given figure?

/
71 (& ST 61 ot Ham FATd HISIT| /
z A€ TR ¥ et gt €2
A) 18 B) 24
C)16 D) 26
A) 24 B) 28
C) 26 D) 30
Q. 1 2 3 4 5 6 7 8 9 10 1 12 13 14 )
Ans D D B C B D D B A B D D C D
Q. 15 16 17 18 19 20 21 22 23 24 25 26 27 28
Ans B C D C A C D B C D D B B D
Q. 29 30 31 32 33 34 35 36 37 38 39 40 41 42
Ans D C D D B D B B A A A C D A
Q. 43 44 45 46 47 48 49 50 51 52 53 54 55 56
Ans C D D B C C D D D D C D C B
Q. 57
\ Ans A y
SOLUTIONS 19 20
1. il2 5 | 6
We can see, there are 5 squares that are numbered in the 3|4
image. 7 8
18
L)L 9 10 17
N i i 13]14
u 12 15|16
=20 Squares
2. 3.

There are 16 inner squares and 4 outer squares.

We have a 6 triangles
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AEC Plus | Counting Figures

A
v |G A FIST There are 10
triangles.
H 10. _
BAD, BAE, BAF, CAE, CAF, DAF, HBE - a total of 7 triangles. 112 :
Total = 6 + 7 =13 triangles. qp'

4.
We got a total of 14 triangle

+ + =7 Triangles.

11. There are 23 triangles.

12. The correct answer is "18".

IBK, JCL, EMG, FNH, GOP - a total of 5 triangles.
Total =14 + 5 = 19 triangles.
5.

=

Triangles

s 13-
i12 4
& &
20 26
19 24
There are 26 triangles in the given figure.
15. The number of squares is 18.
16.
=10 Circles

8. There are 32 triangles.
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AEC Plus | Counting Figures

33. There are 20’ triangles in the given figure.
34. There are 20 triangles in the given figure.
35. There are '23' triangles in the given figure.

36. There are '20' triangles in the given figure.

Triangles are 8.

There are "10' squares in the given figure.
38. There are '29' triangles in the given figure.
39. There is 11" quadrilaterals in the given figure.

gt

There are 11 triangles in the given figure.

41. There are 15 squares in the given figure.
42. There is "16' quadrilaterals in the given figure.

43. There is 14’ quadrilaterals in the given figure.

44. There are "4’ triangles in the given figure.
45, There are "17' triangles in the given figure.

Q o R 46. There are '13' triangles in the given figure.

3 6 47. There are 24 quadrilaterals in the given figure.

A 5 48. There are '28' triangles in the given figure.

D S C 49. There are 10’ triangles in the given figure.

DOC and COB are 2 triangles, and DCB and DAB are two big 50. There are 25 quadrilaterals in the given figure.

triangles. 6 + 2 + 2 =10 triangles
gl ) gl . 51. There are 22 quadrilaterals in the given figure.
19. Total number of triangles = 6 + 6 + 1 =13 triangles, . . - .
. . 52. There are 8 quadrilaterals in the given figure.
20. The total no of triangles is 24.

. 53. There are 12 triangles in the given figure.
21. The total no of squares is 14.

54. There are 17 triangles in the given figure.

22. the total number of triangles is 10 55

23. The total no of triangles is 32.
24. The total no of triangles is 24. Third row

25. There are total 23 quadrilaterals in the given figure. .
Second row
26. There are '"12' quadrilaterals in the given figure.

27. There are "4’ triangles in the given figure. Fark o

=6+3+1=10
56. There are 24 triangles in the given figure.

28. There are 20" quadrilaterals in the given figure.
29. there are '21' triangles in the given figure.

30. there are 11 triangles in the given figure.

31. There are "6’ triangles in the given figure.

32. There are 12" triangles in the given image.
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57.

1 5 |6 2

7 /8\ 9
10 1

12 13
14 16

17 \35,/ 18
5 1920/ ,

and 14,11 and 16,19 and 20.
Total = 20 + 4 = 24 triangles.

Combine numbers 5 and 6, 10
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CHAPTER: 25

COMPLETION OF PATTERN

1. Select the figure from the options that can replace the
question mark (?) and complete the pattern.

/
Ru T faseal B A 39 3Mpfd o1 g HIfST St wed g (?) B
TfawRritd &R Fabd! & 3R e &l qRT P Febdl Bl

A) B)

C) D)

2. Select the figure from the options that can replace the
question mark (?) and complete the given pattern.

/
fRw MY foeseat ® I 39 3Mpia &1 92 B S FAafafed e &
77 fag (?) B! ufawenfd o Fasdt 81

"R “Bh
C) “‘5 D) %
3. Select the figure from the options that can replace the

question mark (?) and complete the pattern. (rotation is not
allowed)

T
ge

fasmeal ¥ q 39 3MBa &1 9T BT S v g (?) B ufdzenfig &2
Faelt € 3R Yo B g1 o Fasddt 81 (GAT B 3rgAfa T8 )

AEC Plus | Completion of Pattern

&
KX
[ 5
0( P

4. Select the figure from the options that can replace the
question mark (?) and complete the given pattern.

B)

?

/
fareat § A 39 31TeBfa &1 =g &R, S U7 &% (?) & T W 317 hd!
2 3R Yo ! yuf o= gt 21

?

C) D)

5. Select the figure from the options that can replace the
question mark (?) and complete the pattern (Rotation is not
allowed).

By
“ 4

/
et ® A 39 31l &1 g B Y weT fag (?) B ufaenfid ax
Hpd! & 3R Yo P g1 o Hepd! @ (gofF Hi srgafa 78 2)1

o9
" D ’ G

L I

6. Select the figure from the options that can replace the
question mark (?) and complete the given pattern (rotation is
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